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STD: X1 FULL PORTION TEST

Time Allowed: 3.00 Hrs. MATHEMATICS Maximum Marks: 90
PART-I '

Note: i) Answer all the questions. 20X1=20

1. If two sets A and B have 17 elements in common, then the number of elements common to
the set Ax Band Bx Ais

a) 2" b) 172 c) 34 -d) 1nsufﬁc1ent data
2. The value of log ;512 is @
| a) 16 b) 18 )9 d) 12

3. Let fk(x)zé[sin"x+cos" x] where xR and k>1. Then fi(x)- £ (x)=
1 : 1 1 1

- . b) — "o = d) =

2 4 ) 12 ) 6 ) 3

4. If 10 lines are drawn in a plane such that no two of them are parallel and no three are
- concurrent, then the total number of points of intersection are

a) 45 . b4 o) 10! dy 210 -
5. The n® term of the sequence 1, 2 4,7,11, ... Is
aynd+3n2+2n b)n3—3n?+3n c) LR d) = s

3
6. The equation of the line with slope 2 and the length of the perpendicular from the origin

equal to /5 is - . ‘
a) x+2y=J§ b) 2x‘+y=x/§ c) 2x+y=S5 d) x+2y-5=0
7. If the point (x,-2) , (5,2) , (8,8) are collinear, then x is equal to
2) —3 mlv - o1 d) 3

8. A vector op makes 60°and 45°w1th the positive d1rectnon of the x and y axes respectively.
Then the angle between op and the z -axis is

a) 45° - b) 60° deiie) 90 d) 3o°
9. lim sin@ —cos jq o
yE
s a——
4 ‘
: : i
@ﬁ. ) ¢ b) % R0 d)2
10. fim =4 21
] x=0 X . . . i
a) 2log 2 b 2(1092)2 : c)log2 - -~ d)3log2
11. Ifg(x)=(x* +2x+1) f(x)andf(0) =5 and hmf -5 then g'(0) is
. x .
a) 20 - 9’ b) 14 )18 d)12
12. Ify =mx+c and f(0) = f'(0) =1, thenf(Z) is :
a) 1 b)2 c)3 | d) -3
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secx
13. dx is
'[\/cos2x

a) tan”'(sinx)+c¢  b) 2sin”(tanx)+¢ c) tan"'(cosx)+c  d) sin”' (tan x) +¢
14. 1f 3 is the logarithm of 343, then the base is

a)5 . b)7 c) 6 d) 9
‘ TR B)=. P(ANB) s
15. If two events A and B are such that P(A)=E then P(AN B) = -2-,then (AnB)
: o , : R
a) — b) — e d) —
! 2 )3 % \ D
16. If A,B,C are three sets such that AmMB=A~Cand AUB=AUCthen
a) A=C "~ b)B=C c) AnB=¢ d) A=B
17. The number of numbers lying between 100 and 500.that are divisible by 7 not by 21 is
a) 57  b)19 038 d) 26
18. If the roots of(a +b2)x ~2(bc+ad)x+c +d2—0are equal then
' a c- a b ' a b it
—_—=— - —= —_—=— b:
" d Ty Vda Barosehd
s il .0 - :
19. Let A=| | I then A* is
3 4

1 0 (1.0 1 0
2 b)(ls 1) c)( 1]' d)[345'1J

20. The non-zero vectors a b and ¢ are related bya= 5hand g c=-3b, Then the angle
between the vectors gand¢ is 2

TN

2). % 1 LB 3 9=
‘ 2

PART -1II
Note: Answer any seven questions. Question No. 30 is Compulsory

. .. 1X2=14
(2L.1If n(p(4)) =1024,n(AU B) =15 and n(p(B))=32, then find n(4NB).

‘ L : 1 .
22. Find a positive number smaller than 1o Justify,

23. Prove-that cos(3—4ﬂ—- '-i—x) —cos (37 o x) 2 —\/msmx E

24. Find 365 .
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|
3

N O W
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25. Using cofactors of elements of second row, evaluate |4|, where 4=|2
|

26. Show that the points whose position vectors are 2i+3 — 5k,3i+j—2k and 61-5]+7k
are collinear.
27. Evaluate lim | x |and lim | x|

x-2" x—2

28. Integrate sec(2-15x)tan(2 —15x) with respect to x.

29. A town has 2 fire engines operating independently. The probability that a fire engine is
available when needed is 0.96. What is the probability that a fire engine is available when
needed?

30. For two events A and B, if P(A) = P(A/B) = %and P(B/A) = % , then show that A and

B are independent.

PART - IIT |
Note: Answer any seven questions. Question No. 40 is Compuisory 7X3=21
31. Find the domainof __ 1 . |
, 1-2sinx

32. If the equation x> —ax+b=0and x*> —ex+ f =0 have one root in commoh and if the

second equation has equal roots, then prove that ae = 2(b+ f).
33.If acosﬂ—l;sinﬂ =c, Show that asin6’+bcoso9:i\/m
34; If “?P, =42x"P, findn ‘
35.1If p,and p, are the length of the perpendiculars from the origin to the straight lines
x sec + ycosect = 2aand xcos@— ysin@ = acos 28, then prove that pl2 +p,=d.
4 36. If g and bare vectors,represémed by two adjacent sides of a regular hexagon, then find

" the vectors represented by ‘other sides.

S gl |
37. Compute limx ., m and n are integers.
Txof x” 4]

3

2 , ;
38. Differentiate : A(f) = (t - ;)

39. If f'(x)=9x"—6x and £(0)=-3, find f(x).
| d

cosx—Ssinx’

40. Integrate J.

T ——
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PART -1V
Note: Answer all the questions. 7X5=35

41. a) From the curve y =|x|,draw i) y =|x—1|+1ii) y =|x+1|-1iii) y =[x+ 2| -3 (OR)
xt+x+1 | |

x*—5x+6

42. a) Prove that 3*"** =87 -9 is divisible by 8 foralln > 1. (OR)

b) What will Rs.500 amounts to in 10 years after its deposit in a bank which pays annual
interest rate of 10% compounded annually?

b) Resolve into partial fractions:

43. a) State and prove Napier’s formula. ‘ (OR)
b) Prove that the medians of a triangle are concurrent.
44. a) A 150mlong train is moving with constant velocity of 12.5m/s. Find i) the equation of
the motion of the train, ii) time taken to cross a pole. iii) The time taken to cross ‘the

" bridge of length 850m is? , , (OR)
q+r)} P’ P’ .
b) Prove that |A| = q¢*  (r+p) q° |=2pgr(p+q+r).
) i r* (p+q) O
3 3 2 ‘
45. 2) Compute lim V7 +x ;/3 LL " (OR)
X x—
b) If £ (x) = |x +100|+ x2, test whether £'(~100)exists,
[ | R .V ) A ‘ ‘
46.2)1f y = 5'1“ = show that (1-x%) y, ~3x, -y =0. " (OR)
-X g . : : i h

b)If x=) cos™ @, y=> sin*@ and z= > cos* @sin®" @ L 0<6< -]25, then show
n=0 : A .

. n=0 n=0

that ¥z =x+y+z - . ' ,
47. a) Integrate with feSpect tox: \J(6-x)(x=4). : : (OR)

b) An advertising executive is studying television viewing habits of married men and women
during prime time hours. Based on the past viewing records he has determined that during prime
- time wives are watching television 60% of the time. It has also been determined that
when the wife is watching television, 40% of the time the husband is also watching. When the
wife is not watching the television, 30% of the time the husband is also watching the television.
Find the probability that i) the husband is watching the television during the prime time of
television i) if the husband is watching the television, the wife is also watching the television.

B.SUGAPEV - M. R EJ . M ‘ (FP—1I) .
& Y9UY0o b2 o (Marnsd @
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